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Abstract

I tried to find a new expression for zeta odd-numbers, but it seems to have remained a
general expression.

However, it may be a new expression and will be published here.
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2 Discussion

do the same
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do the same
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do the same
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do the same
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do the same
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do the same
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do the same
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3 Conclusion

make official
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m is a positive integer greater than or equal to 2
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4 Postscript

These calculations were performed with WolframAlpha.

References

[1] B.Riemann.: Uber die Anzahl der Primzahlen unter einer gegebenen Grosse, Mon. Not. Berlin
Akad pp.671-680, 1859

[2] John Derbyshire.: Prime Obsession: Bernhard Riemann and The Greatest Unsolved Problem
in Mathematics, Joseph Henry Press, 2003

[3] S.Kurokawa.: Riemann hypothesis, Japan Hyoron Press, 2009

[4] Marcus du Sautoy.: The Music of The Primes, Zahar Press, 2007

4


